Task 3: Job Hunt Task (Function: Create with Language)

Context: Congratulations! You have successfully passed a job interview and you have been
offered a job. Your employer has two positions that they think you fit in. Based on the
description of the two jobs, which one will you choose and why?
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Task: Engage in a conversation with your interlocutor (i.e., the teacher) to compare the two
job offers and decide which one you would like to take. Give justification for your decision.

Note: Take 5 minutes to go over the descriptions and suggested vocabulary to brainstorm
some ideas.

Helpful structures Helpful vocabulary

Present tense Sy Qe require ullaty formal (i)

Comparatives S8 ¢ _JiS) o Jtia need glsy  informal grs

C

Plurals (i) g8 .z paild «lia skill d_lga benefits i) ¢
e .z Jwa)

Contrastives PRSI sJa meetings  c\e\ala)  advantages <) aa
Y‘!oooooo éi eéJj‘
...éi

Job A Job B
e Z\.LBJ " Z\.LBJ

(1) bl Qs requires travel

(2) el 23 known number of S Slebw s unknown number of hours

Chg pa hours g ma
(3)  Baua i) gd \gud  has good benefits J8) i) 68 Wb s less benefits (e.g., travel
de gdra Jhs:) (.., paid time off, diagsd ey per diem)

3. Jhac Sick pay, health
e coverage, 401k)

(Sl



(4) B Lugth Lgsb
(5) clelaial lgd
Jai

(6) Ldh %5
Jard) £ ]

(7)<l
Foass

(8)  dqlust) calbats
) A )y

(10) L Ao \8d

has less money

has fewer meetings

only meet with co-
workers

requires computer

Skills
requires writing
Informal

good retirement

ST gl g

s cile Laia) Lo

43}9 u.uu d,\m

C'_\UL@.A &,\Shﬁ
Z\,}Ghﬂ;‘
?SS'.'J\ llats

-

-~

L2 we

has more money

has more meetings

meet new people

requires people skills

requires speaking

Asanus y formal

good retirement



